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Using rotation transformation to solve junior high school geometry problems

Xinyi Wu
College of Mathematical Sciences, Yangzhou University, Yangzhou, Jiangsu

[ Abstract] We define the geometric transformation that rotates a figure around a fixed point in a certain
direction and a certain Angle in a plane as a rotation transformation, because the figure before and after rotation is
identical, so the rotation transformation is an important means that we can consider when solving junior high school
geometry problems. In junior high school geometry, the rotation transformation class is flexible and changeable, often
combined with a variety of carriers such as triangles, rectangles, circles, etc., to examine the Angle, line length, area
size, maximum value and other calculation or proof problems, which puts forward higher requirements for students'
intuitive imagination, logical reasoning, mathematical operation ability, and often has a certain difficulty. In particular,
if the information such as rotation is not directly given in the question, the students have no way to start when
answering the question, but if they can carefully observe the conditions of the question, the skillful use of rotation
transformation can simplify the complex problem. This paper collects part of the test questions and summarizes them,
and then summarizes the solving strategy of the rotating transformation class questions.
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